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. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
TEARMCE) B 2 AR > 35 A 2B B e 1 -
TEARWCE W55 2 I 7R AT > 16 A ZEFIF 3 -

. This is a 25 question multiple choice test. For each question, only one answer choice is correct.
B — BRI EME  SEEE H A EIEREE R -
X EARE2SE R W FEEEH A — A IEWRE S

Mark your answer to each problem on the answer sheet with a pencil. Check blackened answers for accuracy
and erase errors completely. Only answers that are properly marked on the answer sheet will be scored..

R RE R H PR SR SRR AE S R b - R R A R R IR R T PR N > RIS 5E
EREREBINE R o WAREEREES R LG RA YD
TR H A R AT BRI L o TR A RS R G TRk - g 52
EEEERINE R - ARSI EELT SR LNERA SWEED -

4. Every question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 100 points.

HHEE H AL ER D E o BEEERHN S > BB AR05 o ARHIEHIR 7510053 ©
TR H AR AL E M E o R XA ) > B R ZE BAR05) o AR I 23 910053 ©

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

SR RRRAR ~ TTHEAR ~ R~ BAGSHMRBAERmEh TR  sHEG—ARFEMR o WEIHIR
A ATAT R RE DA JH T BT B2
SR RRRAR ~ AR ~ R~ BAGHRBAE AR TR < itFHEG—ARFEMNR o Wtk
A ATAR] [ LA A0 AT T B

. Figures are not necessarily drawn to scale.
JEi| T AN — S 4% LU 5] A L
EIEA— gL 2l

. Before beginning the test, make sure to write the Competition Code “Ecolier”, your name and Competition
ID with your signature on the answer sheet, especially to bubble in the 9-digit Competition ID completely!

TEBR UG H > FEREOR OB ZE AU “Ecolier” » A FNHEE B SR ILE AE -~ ELEE 4 - el
SR HEH RE5% 1) 0L B - TR I A ERY R R T VR -
TEFF AR 2 TE R C A TSRS “Ecolier” » #EAFIHEH IE S B FEE I~ FIFE4 > Rl
RN HEE LS AT C AR I B R T P

. You will have 75 minutes to complete the test once your proctor tells you to begin.
B A EAT R IR - VR AT S 43 8 Y IR ) 5 G At
W I EAT I IRIG > UK A TS5 PP I ) 58 it -

© 2024 Magic Square Association | & J5 &



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

‘ Part 1: 8 problems, 3 points each

(%5 8EER, SW34 | H—H4: 8 HEH, HE3 5

1. What is the value of the expression below?
TakEXERZ D?

TaREXEAS V2

2023 -3 —-25+2024 -3 —-23

(A) 3993 (B) 3994 (©) 3995 (D) 3996 (E) 3997

[Proposed by Uganda | & & A8 | & T A4 |

What is the smallest number of ladders the firefighter must use to reach the fire without
jumping?

W R LA S AN T AR AR R B AY OLT B i K2

B R R L AR B Y AN T A A A R B IK A UL T 2R K32

(A) 4 (B) 5 ©) 6 (D) 7 (E) 8

[Proposed by Denmark | fF4-488 | A 4544 |
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2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

3. Mohammad wrote 3 consecutive 4-digit numbers in a row. His sister erased some digits
as shown. What are the missing digits (from left to right)? For example, 213, 214, 215 are

3 consecutive 3-digit numbers.

Mohammad £ —47 L& 7 3 @ik 4509 wiad, BT, RO EKET — 3T, M
WEBA, BV FRR? flde, 213, 214, 215 £ 3 {Aid &k 69 =458,

Mohammad £ —47 LB T 3 N4 wiidl, BT, REREEKET — 25, 9
ME B A, ey ey m Rk ? flhe, 213, 214, 215 & 3 NiEL 6 =458

7, 898, 48

(A) 389,3,99 (B) 488,4,99 (C) 489,3,96 (D) 489,4,98 (E) 489,4,99

[Proposed by Iran | {7 RA4LRE | 47 2B |

A pattern is made of equal pentagons as shown above. Which of the tiles below, when

placed in the central hole, will form a self-intersecting loop?

— A E ) AEH R LB FOE E. FMRERZE THOMRAIFHROZRAFY, BEP
FEER—EAH a2 E?

— kA R 6 LA e EE BT E E. R EIRE T @A R ERF, BEF
FAaBA—NA B EGE?

(A) @ (B) ® © @ (D) @ (E) @

[ Proposed by Slovenia | #7i% /& 4588 | A& e B4

2024 HFHEBFRRRE—DE T FH 2 2024 FHBFBRRAEE I FPER



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

5. Pieter has a package of 445 g and eight weights as shown below. He puts the package on

the scale. What is the minimum number of weights he needs to balance the scale?

4o T B BT, Pieter F —BE 24 445 L@k, ABEE T B, i Tk
R¥ L. MARRAERFH, RS ERAE S S EkE?

o F B P, Pieter F—/ANE&H 445 090, ANEF T B0, fuie @ FRL
RFLE, FALRFEITH, RV EERE S VAN ek?

5 B B & S aas

(A) 2 (B) 3 ©) 4 (D) 5 (E) 6

[Proposed by Poland | % B #:R8 | & 2454

6. Soccer players numbered 1 to 11 stand in a circle. Each player kicks the ball to the third
player on his left. As shown below, player 1 starts. This kicking pattern continues until a
player has the ball for the second time. What is the number of the player who kicked the
ball last?

A1 E2 11 6 RAFEH A ER— B FERBHRF AL LENE=EHRE. 2 THE
Frw, H1RES AL, SRGHFBEX—AHFANARAELE _REHRAL, M REMS
AR B ASRAEES V2

gﬁ]%ﬁlf’.ll éﬁ/iik}éﬁ]ﬁj‘é}gk—‘@ &A}j{mﬁﬁ’]‘yj‘fj{’ﬁ;‘ ’f‘@/’lvéljﬁh'/\fkm —}(UT@
B, M1 FEHR I8, INEHRBEX—AFEINARNE AL AL, AREE
R HR G SHAS P

6
S 7
4 8
3 9
2 10
1 11
(A) 5 (B) 6 O 7 (D) 8 (E) 9

[Proposed by Ghana | Ae#if#a | Aot 4hAE |

2024 HEBEREARFE—DE T FH 3 2024 FAHBFHERAER—DFFHFAR



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

7. Ria has three counters marked 1, 5 and 11, as shown. She wants to place them side by side

to make a four-digit number. How many different four-digit numbers can she make?

W TEA=, Riafgan&%1, 5, 11 69485, i@ AR HE R — 4T, #m s —18
vl B PIAA AT AR S B R R A v

o FEF =, RaAHAEA1, 5, 11 694508, A8 X ARMBER —4T, @B R—A4
WAL R, BB T AER S Y ATRRE e e

0010,

(A) 3 (B) 4 © 6 (D) 8 (E) 9

[Proposed by Netherlands | # @448 | #7 Z 454 |

Dina has set up her three bricks on the floor behind a wall. When seen from the front, the
bricks look like as above. How do the bricks look from the back ?

Dina @484 Z 3 B A — @A A AR Lo #E & A KR4 LB BT, PiE sy i
WA LERERRN?

Dina &% E_i}w’?’fi—?ﬁ(/ﬁ_ ‘G B AR B B A 69K 40 LB P R. B s rk e A
HmA A A2

(D)

[Proposed by Switzerland | ## -4t | 3% 44 |

2024 HFHEBFRRRE—DE T FH 4 2024 FHBFBRRAEE I FPER



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

‘ Part 2: 9 problems, 4 points each

(E-Ems: VEER, SE4H | WS 9 EBE, BE 45

9. A student has 3 cards with numbers on them. Their sum is 782. Unfortunately, a worm

ate part of each card. What is the sum of the 3 missing digits?

BARBRBABNF R, BEBENEIRTE2, FFHA, HIRFAARA —HoHET
LT . MBREANZEHRFHFES D?

FARAIKEAHN TR, ZLEHGEFRT82, FEHR, HFRFTAAA—FMET
LT o FIBRRN AR TS D?

(24.03) (1lde) (41

(A) 8 B) 9 (@ 10 (D) 11 (E) 12

[Proposed by Greece | A 442 | A 454 |

10. A hopping game is played in the following way: each player hops into the squares, swap-
ping between left foot - both feet - right foot - both feet - left foot - both feet, and so on, as
shown. Maya played the game and hopped into exactly 48 squares starting from her left
foot. How many times did her left foot touch the ground?

do 8 BT, BREBERER IR AT N T A, [ - HER - A5 o - R - Ay -
Fp Z M) 4 ¥ Maya i M8 dE sk, PR eg Z Bl 46 i T 48 18 7 4ko M AbL 8 2 B T 4

k2
de B BT, BRI IR AANTEIAN T, LA - Wy - A B - Sl - AR -
Bz A 4 H. Maya FUiX N R, MHEG £ By FF4E kit T 48 AN #h. Flibd) 2 7 %

boRe
i
(A) 12 (B) 24 (€) 32 (D) 36 (E) 48

[Proposed by Austria | B3 A48 | B3k A| 4L

2024 HHBERIGE—DEFFHR 5 2024 FHBFBRRAEE I FPER



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

11. Tim wants to draw the figure shown below on a piece of paper, without lifting his pencil
off the paper.The lengths of the lines are given in the figure. He can choose to start his
drawing anywhere. What is the length of the shortest path in centimeters he could draw

to complete the figure?

Tim A& AR E—FEE TR TOEY, PAKLE BT EREMK LR, B LY
T EMERE R . TR BAEMILTHBEE. 2R REEBY, g i eisg
MRERELS VAS?
Tim B& A% L—L£88 THMFOAEY, PALAIRPEREMALIER. BTFLE
TEERBEORKE. T ARFLEEMHT LB, ATRENBE, tprhd 3%z
RERERLS YRR

(A) 14 (B) 15 (O 16 (D) 17 (E) 18

[Proposed by Germany | & B 448 | /& E 44

12. Four different integers are placed on a grid and then covered up. The products of two
integers in each row and in each column are shown in the figure below. What is the sum

of the four integers?

v R 6 BB B A TR AT, BWEE. FATET) AR LI R ML T B AT
Mg vl E g Fe R % )P
AR 8 BB A GERT, R EE. BT A ELN R T BT
X vy N A Fe R S D2

4 12

(A) 11 (B) 12 (O 13 (D) 14 (E) 15

[Proposed by Australia | i XA| 448 | M X A] AR |

2024 HEBEREARFE—DE T FH 6 2024 FAHBFHERAER—DFFHFAR



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)
13.

There are six boxes on a truck as shown above. A worker puts them on the floor. He takes
one box at a time, provided that box does not have another box on top of it. He places his
box on the ground or on top of another box. Which of the following stacks could he not
build?

o LB AR, —#FREANER T TAMEMH T, ERMT —EAAMLH T
JRAE G T, BAFCHAH L RF — B THTEIR. MATIHRESFRTRRAH TR
R

e ER T, — B FEEASART. TAKECNHF T. ERMT —/NEARLLE T
JEAE BT, FHTCRAMRLERD =N FHTR. FATHEANG TR TRAH K EHLE

D)
(B]lA
C
F
(B) .

C A
B
(E) F E

[ Proposed by Greece | # B{A%AE | A 544 |

"110;>w

(&)

(D)

14. In the following calculations, the same digits are hidden under the same figures. Different

X X

digits are hidden under different figures. What is the value of A ‘ .?

AT @ FX P, ME G EFEEEEERF T, TR Y& REE R RGBT,
A-O-H

M BEE S e

AT@OEXF, MEAMGALGEEREAMRGKT, TRGEYE@REAE TR ST,

A-©@-H

il WA S )
A-A-HO®
@-A-HE

(A) 0 (B) 15 (©) 18 (D) 28 (E) 30

[Proposed by Poland | 7k B4R | 7k 2454
2024 HFHEBFRRRE—DE T FH 7 2024 FHBFBRRAEE I FPER



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)
15.

Ada has built a tower of 8 discs, as shown in the picture above. Ada removes the second
disc from the bottom of this tower. Then she removes the third disc from the bottom of
the new tower. Then she removes the fourth disc from the bottom of the new tower. Then
she removes the fifth disc from the bottom of the new tower. Which tower does Ada end

up with?

Yo LB P, Ada #5427 — /2 8 18 B A4k 09 3% . Ada B R BE P RS T RS F AL
%A E A, I P BB SRR AL F A E . R BRI B B 4R SR
A Fo B M A, KIE, HoSHEH P TR BRI H A A E 4. B Ada AT R
WRREA, BERT HERD

Jo L @ PR, Ada #5HE T — ki 8 ANH LR, Ada %R RIS BUE T MURIR AL H
FEUN FENE S TWC TES C VL S EXP VN E WY L ST &
HAWHmAR . KE, o SORH b IR MRR AN H AT £, ) Ada #47 21X
WG, BEATHLH?

(A) E (B) E (&) E (D) E (E) i

[Proposed by Poland | % @8R8 | I 2444

2024 HEBEREARFE—DE T FH 8 2024 FAHBFHERAER—DFFHFAR



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

16.
—

1 2 g
4 '3 EEIR)

John writes the numbers 1 to 4 on a sheet. Then he flips the sheet and writes the numbers
5to 8, as shown above. After that, he cuts the sheet into 4 rectangular cards and puts them

in a row as shown below. What is the sum of the numbers represented by the question

marks?

e LB BT, John ## 1 5|4 A — R ER. REAMMKELLET DS THS 3 8.
Zth, Wl R ABEFTH Y, BHECMIER—FF, o TE T, ABEMERAGE
FhRZ Soe

o LA BT, John ¥4 1 5 4 BA KK ER. RSB REFLETHE THKS5 3 8,
2, BRI R AANKFTHER, FHENHR—FF, W TEI T LB 5K EGHK

FLARS D
56

(A) 4 (B) 5 ) 6 (D) 7 (E) 8

[Proposed by Brazil | & &4t | & B4k |

2024 HEBEREARFE—DE T FH 9 2024 FAHBFHERAER—DFFHFAR



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

EAE

OJCIONICICIC,
[C@@ ][D@@ ]E@D@ }

CJCICNICICVIOINCIOIO,

Mark had five boxes of chocolates labelled A, B, C, D and E. The chocolates in the boxes

have been given numbers according to their flavour, as shown above. He ate most of the

chocolates. The picture below shows what was left. What was the label of the box marked
X?

Mark H Z &2 %23 % A, B, C, D, E#55 5. w LBHF, &EFRF LG RE D
RABRFES. LT XN, TRRATTSBETEEMN THTLS. MR
A X & TAREAMNE?

Mark H &4 %455 #MA A, B, C, D, E#5 %A, m L BT, EFELFLANHRRE 0
KRB FRE. LT KI8T . TARTTEINETLEMTHTAN . FAFILT
A X & F AR ERM L2

‘o Jlejle e o]

A) A (B) B O C (D) D (E) E

S

[Proposed by Greece | A iR | A AL |

2024 HHBERIGE—DEFFHR 10 2024 FHBFBRRAEE I FPER



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

‘ Part 3: 8 problems, 5 points each
(E=#HH: WA, SES 4 | HSHH: S EEE, FES 4

18. Nine cards numbered from 1 to 9 were placed facedown on the table. Alan, Bart, Cora
and Dane each picked up two of the cards. Alan said "My numbers add up to 6”. Bart
said “The difference between my numbers is 5”. Cora said “The product of my numbers
is 18”. Dane said “One of my numbers is twice the other one”. Every person made a true

statement. Which number was left on the table?

JERSEM 1 B9 49F B E®m & T 2 L. Alan, Bart, Cora, Dane A £ 4 7 ik
FH, Alan®: [KRFEORMEENFZ 6], Bart3: [&RF Lo RM@EIM £2 5], Cora
®: [ RF LG RMEHSG AR 18], Dane : [HKF Lo —ERZH — BRI RIE . &
AR T AT HRAE. MEAERLGAREF R FAHREHR?

KBTI 39 FHEdm e FERELE, Alan, Bart, Cora, Dane A £#A& 7 & ik
FHo. Alan #t: [RKF LA AHKGFR 6, Bart 3t: [&KF Loy A4 £ 25, Cora
e [RF L6 A3 ’ARZ 18, Dane #t: [HKF L —ARKZH —AKNAE . F
ANAARMOE T AL HRE. MG ARTEOIKF R AL

(A) 1 (B) 3 Q) 6 (D) 8 (E) 9

[Proposed by Vietnam | A& 448 | A f A |

19. There are exactly 2 frogs in each row and each column as shown below. The frogs decide
that 2 of them will jump to a neighbouring empty cell at the same time. Neighbouring
cells have a side in common. After that, there are still exactly 2 frogs in each row and in

each column. In how many ways can the frogs do this?

BT, A RERRGA 2 E ., TRk ERNE FHERRI ARG T B TP,
EARA A% 09 AR AR A RN IR RZAL, FAT AR KRG E 2 &
o MARMA S VAR IR ke

o BB, FAT ARG 2 RE., FEAEEH R AR R 4R 6 E R TP,
TR NLDGTIAFTHARA ZARARY . ERFEERZIE, BATFFRRRGFAE 2 2 &
¥, FFRANA S VA RE KT 2

&8 &8
N N
SIS
W | ¥
A) 1 (B) 2 (© 3 (D) 4 (E) 5

[Proposed by China Taipei | % & JbAt# | & 42 & L pbAd |

2024 HFHEBFRRRE—DE T FH 1 2024 FHBFBRRAEE I FPER



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

20. There are 2 types of toy blocks: white A> and red . . A small cube can be

made of 4 white blocks, or of 1 white and 1 red block. The large cube shown in the picture
is made of small cubes. What is the smallest number of white blocks needed to make the

large cube?

F A AR AR ééé@&ﬁﬂéléé‘J.o —ENZHFETAR4EG E

AR, XAH 1 EGERARR T BLERRRER. W TEHF®, KRLHHEAD
—& T FREARY . MPFREBRXITRRSEZS JEEEHRAR?

A AR R A GG AR R é;@éé@ﬁaﬁ@é@~o — NN ZFERTAH 4 4G 6

RASRIA, SAY 1A ERRRA | AL ERARAR. W TEFNT, kiilhty
— SRR FHREAK E SRR EES PG ERAR?

(A) 8 (B) 11 () 13 (D) 14 (E) 23

[Proposed by Russia | 4% 7 A28 | 4K F A74% 4 |

21. The length of a set of four well-parked and fitted supermarket trolleys is 108 cm. The
length of a set of ten well-parked and fitted supermarket trolleys is 168 cm. What is the

length of a single supermarket trolley in centimeters?

v {8 R BB A B A A AR TR R A9 AR A 108 2 oK. B R LR R B A AR T R
P A A L8 R, ME—RTHY LORERS JEK?
WANEF AR RSB TN ENERKREA 108 2R, +AEFELEAERGLTHY
FOEREAH L8 B K. FIENMTHHFGRERS VRA?

(A) 60 (B) 68 Q) 78 (D) 88 (E) 90

[Proposed by Portugal | # % F4# | # & F4:4

2024 HFHEBFRRRE—DE T FH 12 2024 FHBFBRRAEE I FPER



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)

22. A floor is covered with 2 kinds of tile |:| and . The rectangle tiles |:| have size
23 cm x 11 cm. The picture below shows a part of the floor. What is the side-length, in

centimeters, of the square tiles [ P

%@ﬁE:]%.E@ﬁﬁﬁﬁﬁﬁﬁﬁc%ﬁ%ﬁ%E:]%Kﬁ%&B@ﬁ,%H
Bk, TEETTHEG—K>. MEsHEaBegg 2% LR

%@ﬁE:]%.ﬁ%ﬁ%ﬁ%ﬁﬁﬁéo&ﬁ%ﬁ%[::l%ﬁfiﬁﬂﬁﬁ,ﬁn
Bk, TASTTH@—k>, MEFH B ke sy Eks

(A) 3 (B) 4 ©) 5 (D) 6 (E) 7

[Proposed by Finland | Z-gj#c28 | 2 2444 |

S

23. A grandmother has some candies. She decides to divide them up amongst her grand-
children so that each has a bag containing same number of candies. She puts the largest
possible number of candies in each bag and, when she is done, she sees that there are 20
candies in each bag and 12 candies are left over. What is the smallest possible number of

candies she could have?

WA — AR R Rk M C MR THR M, RFEHE AT R TR A A8 R
BMER. WAFBRFEAANETRSHER, TRERERFMERTIEZAH 20 FE X,
BT I2BER. MRS TiA S VRBEER?

WA — R Rk RIFE AN B INT I AN, ARATEEANAST R 8GR T LA A A8 B
FTHMER. WAHBNRTFERARTREZOER, TRGREAAENRTEZH 20 B XL,
FH T 12 AR, BFIK I TEA $ VBER?

(A) 52 (B) 232 (©) 272 (D) 412 (E) 432

[Proposed by Catalonia | #n %% & Z4E8 | hn & % R T AL |

2024 HHBERIGE—DEFFHR 13 2024 FHBFBRRAEE I FPER



2024 Hong Kong Mathematics Kangaroo Contest - Ecolier (Grade 3 & 4)
24.

Werner can make a 4 x 4 square grid, where the sum of the numbers in all four rows and
all four columns is the same, from the three pieces shown below and one further piece.

Which of the following pieces is needed to complete his square?

Werner T XA fl 4o T B B 89 Z3 Bt B A= 5 — bt B E — @ 4 x4 094 &, R EL P&
A7 Fo 5 5 69 W AR S A M Fe AR AR B o P A TR AL S  IE AR Y IE T 7 A R F 09 A Sh Bt
?

Werner T VA fl4o T B BT 89 S35t B An 5 — kBB P h — AN 4 x4 894k, gL+ 4

A7 Fo B 5 09 va ARG K FoARAR o 1) AT RS R A ik AR 69 JIE 5 5 AR BT & 69 8RS
A ?

2(2]
1 [2]1[3]1
2 1] [B3[1[2]

(A) ®) © ) (E)

[Proposed by Germany | & B 4:24 | /& E 4444 |

2024 HFHEBFRRRE—DE T FH 14 2024 FHBFBRRAEE I FPER
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25. The figure shows a circular route. Rojo the kangaroo started from a point in the white
area and always ran clockwise. At the beginning, Rojo had 0 points. Each time he crossed
a grey area, he gained points by the number of points written there. He finished the run
when he had a total of 55 points. How many points did Rojo get for completing the last

grey area?
Yo B B, A —IRB R . RARojo #8 & B3 ag L — B35, & EZARFE 78 F
#o BAE, Rojo #9302 0. FEF B —EAERRN, RSB TIE E IR
R E B WERMIFH AR, TARTHY. M Rojo £3i@ RE—AKREERIFIT
T HRH?
Yo (TR, A—5IHRL. RRARojo MG & RIREE— ETF4s, 445 FIMut4 7 & &
3. AR, Rojo #9352 0. H LT E— AR ERBET, HFEF 0 R AR K 3
BH B 5. RIS A 550, TART Y. F Rojo £#id F)e — ARk & K043
3| 7Ly

(A) 1 (B) 2 < 3 (D) 4 (E) 5

[Proposed by Estonia | % 3 & EALH | & i) B BALA |

2024 HHBERIGE—DEFFHR 15 2024 FHBFBRRAEE I FPER



